+HE+E =

Jg=0 jl eslaiiwl L

St g oluw \?Jg;ijl oslaiwl L

- =

Jg=0 jl eslaiiwl U

St g oluw \?Jg;ijl oslaiwl L

—P=P =

Jg=0 jl oslaiiwl U

St g oluw \?Jg;ijl oslaiwl L

-O+0 =

Jg=0 jl eslaiiwl L

St g oluw \?Jg;ijl oslaiwl L

+5+E =

Jg=0 jl eslaiiwl L

Sadaw g oluw \?Jg;ijl oslaiwl L

+5—k =

Jg=0 jl oslaiiwl U

St g oluw \?Jg;ijl oslaiwl L



—G—fc =

Jg=0 jl eslaiiwl L

St g oluw \?Jg;ijl oslaiwl L

—5 4 =

Jg=0 jl eslaiiwl U

St g oluw \?Jg;ijl oslaiwl L

P4V =

Jg=0 jl oslaiiwl U

St g oluw \?Jg;ijl oslaiwl L

-V =

Jg=0 jl eslaiiwl L

St g oluw \?Jg;ijl oslaiwl L

Jg=0 jl eslaiiwl L

Sadaw g oluw \?Jg;ijl oslaiwl L

—P+V =

Jg=0 jl oslaiiwl U

St g oluw \?Jg;ijl oslaiwl L



